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of these two

/L. The followin

Use the 0.05

(54 ip%)

., X, constitute a random sample of size n from a normal population
with the mean w and (he variance o?, lind Joint maximum likelihood cstimates

parameters. (/2 %)

‘. A heavy-equipment salesperson can contact either one or two customers per day with
probability 1/3 and 2/3, respectively. Lach contact will result in either no sale or a $50,000
sale, with the probabilitics .9 and 1, respectively. Give the probability distribution for daily
sales. Find the mean and standard deviation of the daily sales. ¢ § £ - “ %)

g random samples are measurements of the heat-producing capacity

(in millions of calorics per ton) of specimens of coal from (wo mines:

Mine [: 8,400 8,230 8,380 7,860 7,930
Mine 2: 15100 7,690 7,720 8,070 7,660

level of signilicance to test whether the difference between the means of

these two samples is significant. iz %)

The standardized normal distribution

[{] F3

Entry represents aros under the standardized normal distribution from the mean tol2 hd

r4 .00 .01 .02 .03 .04 .05 .06 .07 .08 .09
0.0 | .0000 0040 .0080 0120 .0160 0199 .0239 0279 0319 .0359
0.1 | .0398 0438 .0478 0517 0657 0596 0636 0876 0714 0753
0.2 { 0793 .0832 0871 - 0910 o%g 0997 .1026 1064 .1103 A141
03 | .1179 1217 1255 1293 A3 1368 1406 1443 .1480 1517
04 | .1554 1591 .1628 1664 1700 1736 A772 1008 .1844 1879
056 | .1915 .1950 .1985 2019 .2054 2088 2123 2157 2190 2224
06 | .2257 2291 2324 2357 2389 2422 .2454 2186 2518 .2549
0.7 | .2580 2612 2642 2673 .2704 2734 2764 2791 2823 .2852
08 ]| .2831 2910 2939 2967 .2995 3023 .3051 .3078 3106 3133
09 1 3189 3186 J2n2 3238 3264 3209 3ns 3340 .3365 .3389
1.0 3413 3438 3461 3188 508 3531 3654 527 3599 3021
1.1 ] 3843 .J66S 3686 3708 3729 3749 3770 3790 3810 3830
1.2 1 3849 .3869 .3888 3907 3925 3914 .3962 .3980 3997 4015
1.3 | .4032 4049 4066 1082 1099 4115 413 A147 4162 A7
141 4192 4207 4222 4236 4251 4265 4279 4292 306 4319
1.5 1 4332 4345 4357 4370 4382 43N 4406 4418 4429 Ad41
1.6 | 4452 4463 4474 4484 4495 4505 4515 4525 4535 4545
1.7 | 4554 4564 A573 4582 450 4599 .AGUD 4616 4625 4633
18 { 461 4649 4656 4664 4671 4678 4686 4693 4699 4706
1.9 | an3 A9 4726 4732 4738 4744 4750 4756 4761 4787
20| 4172 4778 4783 1788 4793 4798 4803 4808 4812 4817
2.1 | a8 4826 4830 4834 .4838 4842 4846 .4850 4854 4857
2.2 | .4861 4864 4868 A871 4875 4878 4801 4884 4887 .4890
23 | 4093 4896 4098 4901 4904 1906 4909 A9 A913 4916
24 | 4918 4920 1922 4925 4927 4929 4934 4932 4934 4936

NRONS
eV n

1938 4910 A9 4943 4915 ANMG 4914 A919 4951 4952
4953 4955 4956 4957 4959 .4960 A961 4962 4963 4964
4965 4966 A967 1968 4969 4970 4971 4972 4973 4974
4974 A975 4976 1977 A977 1978 A979 4979 4900 4981
4981 4902 4982 1983 A9U4 4901 4985 A0S A906 A986
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Critical values of t
0 lta.dn U
Degrees Upper Tail Areas
of
Freedom .25 o . .05 025 01 .005
1 1.0000 3.0777 6.3138 |2.7662 31.8207 63.6574
2 0.8165 1.8856 2.9200 43027 6.9646 9.9248
3 0.7649 1.6377 23534 3.1824 4.5407 5.8409
4 0.7407 1.6332 2.1318 2.7764 3.7469 4.6041
5 0.7267 14759 2.0150 2.5706 3.3649 4.0322
6 0.7176 1.4398 1.9432 2.4469 3.1427. 3.7074
7 07111 14149 1.8946 2.3646 2.9980 3.4995
8 0.7064 1.3968 1.8595 2.3060 2.8965 3.3554
9 0.7027 1.3830 1.8331 2.2622 2.8214 3.2498
1 0.6998 1.3722 1.8125 2.2281 2.7638 J3.1693
" 0.6974 1.3G34 1.7959 2.2010 2.71m 3.1058
12 0.6955 1.3562 1.7823 2.1788 2.6810 3.0545
13 0.6938 1.3502 1.7709 2.1604 2.6503 3.0123
L] 0.6924 1.3450 1.7613 2.1448 2.6245 2.9768
15 0.6912 1.3406 1.7531 2.1315 2.6025 2.9467
16 0.6901 1.3360 1.7459 2.1199 2.5835 2.9208
17 0.6892 13334 1.7396 2.1098 2.5669 2.8982
18 0.6884 1.3304 1.7341 2.1009 2.5524 2.8784
19 0.6876 13277 1729 2.0930 2.5395 2.8609
20 0.6070 1.3253 1.7247 2.0860 2.5280 2.8453
Critical values of £
————
= {¥
~ /u A28
* 0 ";...dr'..l/,n £ .
* Denominator Numerator df,
o,
* ! 2 3 4 5 6 7 8 9 10 12 15 20 24 J0o 40 &0
1 8478 7995 8642 8996 8218 @374 8.2 . 9567 9633 9686 9767 9449 9931 997.2 1001 1006 1010
2 38.51 3%.00 39.17 39.25 39.30 39.33 39.36 39.37 39.39 39.40 3s 6 39.43 39.45 J39.46 39.46 3947 39.48
3 17.44 16.04 15.44 15.10 14.08 14.73 14.62 14,54 14.47 14.42 14.34 1428 14.17 14.12 14.08 14.04 13.99
4 12,22 10.65 9.98 9.60 9.36 920 - 907 8.98 8.90 8.84 8.75 8.66 8.56 8.5t 8.46 8.4 8.8
5 10.04 8.43 1.78 1.39 7.8 6.98 6.85 6.76 6.68 6.62 652 843 623 6.28 623 6.18 6.12
] 8.8 71.28 8.60 823 5.99 5.82 570 5.60 §.52 5.46 5.37 527 5.17 5.12 §.07 5.0t 4.96
? 8.07 6.54 5.89 §.52 5.29 5.12 4.99 4.90 4.82 4.76 4,67 4.57 4.47 4.42 4.36 4 4.25
8 1.57 6.08 5.42 5.05 402 4.85 483 4.43 436 4.30 4.20 4.10 4.00 395 3.89 384 .78
9 .21 s 5.08 4an 4.48 4.32 4.20 4.0 4.03 3.96 367 wmn 267 3.61 3.58 351 345
10 6.94 6.46 4.83 447 4.24 4.07 3985 388 378 an 362 352 342 3237 an 3.2¢ 3.20
n 872 526 4.63 4.28 4.04 kX::} .76 J.66 359 353 343 Bk } 323 kRY 3.12 3.06 3.00
12 855 5.10 447 4.12 J.o9 3.7 3.61 3.5 Ja4 1y J.28 3.18 302 302 2.96 291 285
0 ‘ Fram, ) r .
Denominstor Numerator df,
dh 2 3 ‘ [1 [4 7 [} 9 0 [24 15 20 24 30 <0 60
1 161.4 199.5 ’215.7 2246 230.2 2340 2)6.8 2389 2405 2419 2419 245.9 248.0 2991 250.1 2511 2822
2 18.51 19.00 19.16 19.26 19.30 1933 19.35 19.37 19.38 19.40 194 19.43 19.45 19.45 19.48 19.47 19.48
b ] 10.13 9.56 8.28 9.12 9.01 8.9 8.89 8.5 8.91 8.79 0.74 8.70 8.68 8.64 8.62 8.59 8.57
4 m 6.94 6.59 6.39 8.26 6.16 8.09 6.04 8.00 5.96 5.91 586 8.80 6.77 675 6.72 5.69
5 681 679 5.41 6.19 6.05 4.95 4.68 4.82 an 474 4.68 4.62 4.56 483 450 a.48 443
6 5.99 514 476 453 439 4.28 an LR 4.0 4.08 4.00 M 207 384 301 n 274
? 5.59 474 435 4.12 197 d.87 379 an 3.68 J.64 18?7 3.5¢ J.44 341 3.8 34 330
8 532 4.46 4.07 .64 3.69 3.58 3.60 344 339 338 328 322 218 3.12 3.08 304 3.0t
9 512 4.26 Jee 3.6 J.48 .7 J.29 3.2 .18 314 3.0 3.00 2.9 2.9 288 283 279
10 496 4.10 an .40 1 322 34 .07 3.02 298 N 2.8% wmn 2.74 2.70 2.66 2.62
1" 484 .98 3.59 .36 3.20 d.09 .00 295 2.90 285 279 272 2.65 2.6 2687 2.5 249
12 478 3.89 149 d26 an 3.00 2.91 285 2.80 2,75 2.80 2.62 2.54 2.51 2.4 2.43 2.38






